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1.What is the main reason for using aggregates in VIPR SRM?

A. To improve and optimize report generation and calculation performance.
B. They are suitable for short time range reporting and for trending.

C. To retain values for longer periods of time.

D. To calculate missing metrics in the case of a gap.

Answer: A

2.After VIiPR SRM was installed, you noticed that the Ul did not display the default reports, even though
the EMC Watch4net Health SolutionPack is installed. What could be causing this problem?

A. Host Resolution is not configured properly

B. DNS PTR is not configured

C. Default ReportPack is not installed

D. IP address was used to configure the Solution Pack

Answer: A

3.Which file on support.emc.com is used for installing ViPR SRM 3.5 into a virtual environment and
pre-configures four VMs and five databases?

A. EMC M and R 6.4 vApp Deployment

B. EMC M and R 6.4 Windows 64-bit Setup File

C. EMC M and R 6.4 Appliance and SolutionPack Update for vApp

D. EMC M and R 6.4 Linux 64-bit Setup File

Answer: A

4.How many metrics can a Backend support?
A. 1.5 million

B. 1.2 million

C. 1 million

D. 750,000

Answer: A

5.Which ViPR SRM report defines service levels based on array model type, disk interface technology,
RAID type, disk size, FAST policy, and also tracks host application Service Levels?

A. Capacity Planning

B. Configuration Compliance

C. Impact Analysis

D. Service Assurance

Answer: A
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